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Pass Marks : 26

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4  marks.

Answer all Five questions from Group C, each question 

carries 8  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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Explain about connection oriented and 

connection services.

basic network topologies.

Give comparison between OSI and TCP/IP 

reference models?

OSI TCP/IP  

OR

8.

OR

8

8

9.

Old Syllabus
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1. Choose the most suitable answer from the following

options :1 x 20 = 20

(ii)

(i)

(i)        

P.T.O

A........ is a set of rules that governs data 

communication.

(a) Protocol

(b) Forum

(c) Standard

(d) None of the above

A television broadcast is an example of........

transmission.

(a) Half- duplex

(b) Simplex

(c) Full- duplex

(d) Auto matic

OT5019OT5019

What is difference between baseband and
broadband transmission?

OR

Answer all Five Questions. 
8 x 5  = 40

Explain about frame format of IEEE 802.5

IEEE 802.5 

8
7.
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(iii)

(iii)

(iv)

(ii)

A..........is a data communication system within
a building , plant or campus or between nearby 
buildings.
(a) LAN
(b) MAN
(c) WAN
(d) Non of the above

Ethernet uses a ..............physical address that
is imprinted on the network interface card(NIC)
(a)  32 bit
(b)  6-byte
(c)  64 bit
(d)  None of the above

6.

OT5019 OT5019

State the types of guided media.

layers.

What are framming methods?

OR

5.

4

                                   OR

4
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(v)

(v)

(vi)

(iv)

The OSI model consist of .........layers.
(a) Eight
(b) Seven
(c) Five
(d) Three

In the OSI model, as a data packet moves 
from the lower  to the upper layer, headers
are................
(a) Removed
(b) Added
(c) Rearranged
(d) Modified

4.

OT5019OT5019

OR

What is transmission speed?

What you understand by communication channel?

FSK 

asynchronous transmission?

4                     

3.

OR

4                     
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The most common technique to change an
analog signal to digital data is called...........
(a) Sampling
(b) PAL
(c) PCM
(d) None of these above

The signal rate is, sometimes called the.........
rate.
(a) Bit 
(b) Band
(c) Signal
(d) None of the above

(vii)

(vii)

(viii)

(vi)

Answer all Five Questions. 

2.

4 x 5 = 20

Define modulation.

(xx)

OT5019 OT5019

4                     
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PCM is an example of .........conversion.

(a) Analog to analog

(b) Analog to digital

(c) Digital to digital

(d) Digital to analog

Which multiplexing technique transmits 

digital signals?

(a) WDM

(b) FDM

(c) TDM

(d) None of the above

Bus, ring and star topologies are mostly 

used in the:

(a) LAN

(b) MAN

(c)  WAN

(d) Internetwork

Device that operates below physical layer of

OSI model is:

(a) Active hub

(b)Passive hub 

(c) Bridge

(d) Repeater

(ix)

(ix)

(x)

(viii)(xviii)

(xix)

(xx)

(xix)

OT5019OT5019
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Which topology covers security, robust and

eliminating traffic factor?

(a) Mesh

(b) Ring

(c) Star

(d) Bus

Multipoint topology is :

(a) Bus

(b) Star

(c)  Mesh

(d) Ring

Transmission media lie below the.........layer.

(a) Application

(b) Transport

(c) Network

(d) Physical

The checksum of 1111 and 1111 is.............

(a) 0000

(b) 1111

(c) 1110

(d) 0111

(xvii)

(xvii)

(xviii)

(xvi)

(xi)

(xi)

(xii)

(x)

OT5019 OT5019
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HDLC is an acronym for..............

(a) Half-duplex digital link combination

(b) Host- double level circuit

(c) High -duplex line communication 

(d) High -level data link control

..............is a first-generation phone system.

(a) GSM

(b) AMPS

(c) D-AMPS

(d) None of these

GPS satellites are...............satellites.

(a) MEO

(b) LEO

(c) GEO

(d) None of the above

Message ...............means that the data must

arrive at the receiver exactly as sent:

(a) Confidentiality

(b) Integrity

(c) Authentication 

(d) None of these above

(xiii)

(xiii)

(xiv)

(xii)

(xv)

(xv)

(xvi)

(xiv)

OT5019OT5019
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Differentiate between pure ALOHA and slotted

ALOHA using diagram.

various fields with a neat diagram.

HDLC 

What is TDM ? With the help of a block diagram,

explain how it works.

(a) Switched virtual circuit

(b) Permanent virtual circuit

OR

OR

10.

11.

8

8

1718502
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Differentiate between pure ALOHA and slotted

ALOHA using diagram.

various fields with a neat diagram.

HDLC 

What is TDM ? With the help of a block diagram,

explain how it works.

(a) Switched virtual circuit

(b) Permanent virtual circuit

OR

OR

10.

11.

8

8
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X.25 

model and the function of each block.

OR

***

18 18502OT5019

X.25 

model and the function of each block.

OR

***
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